TiREH : TYPE-A (% 5H)

e . 1RRIEH  AFEANBFREEERIHRIENHE) (BK=62cm/TH=8cm) %ﬁl 1.00m2
THRIEH G B HE BB HaE  (MEE
R AAFRERR T R(EWHE) BE=62cm/TH=8cm) m? 1.00 2400( 2400
B B (T £ 4 4 B 1.00 100 100
T ] = 1.00 80 80
PEE ISR T EI8 m? 1.00 60 60 2640
ST R m?3 0.04| 1250 50
BLSE = 1.00 20 20
ﬁuﬂé m? 1.00 230 230
EE TRETERER) = 1.00 10 10
m° B B 3t: 2950 T
TEEMH : TYPE-A (#E[RHEE)
;e . TiRIEHR  AFEBEEEERIRIENVHE) ER=62cm/TH=8cm)(Fi#H) %ﬁz 1.00m?2
THRIEH G B HE BB B Y5
R A EERR T RBYWE) GBE=62cm/TH=8cm) m? 0.76] 2400 1835
1B B (T ) 4 4 B 1.00 100 100
] = 1.00 80 80
EEED T EE m? 1.00 60 60 2075
HESTRD m?3 0.04| 1250 50
B SE = 1.00 20 20
ﬁﬁux:[ét m? 1.00 230 230
Bt m? 0.24 30 7
& &7 m? 0.24 20 5
2 TRETERER) = 1.00 13 13
m° B B 3t: 2400 T
TEEMH . TYPE-B (% 37)
e . I1RRIEH  AFEABFREEERIHRIEYHE) (B&K=50cm/TH=8cm) %ﬁl 1.00m2
THRIEH G B HE BB B Y5
REEABFRERR T R(EWHE) B&=50cm/TH=8cm) m? 1.00] 2960 2960
B B (T ) 4 4 B 1.00 100 100
] = 1.00 80 80
PEE ISR T R m? 1.00 60 60 3200
ST R m?3 0.04| 1250 50
BLSE = 1.00 20 20
ﬁuﬂé m? 1.00 230 230
EE TRETERER) = 1.00 10 10
m° B B &t 3510 7T




TRaME TYPE-B  (AEPatEEs)
EEl:  1i2EH K%ﬁf\%Méfmtb,;}%iff&(usﬁ/l‘ﬁ) (2 & =50cm/TH=8cm)(Ex ) %ﬁz 1.00m2
THRIER 2 B | S BE | #E e
R A aEERR T MBWE) GBE=50cm/TH=8cm) m? 0.72| 2960| 2131
P12 B U 8 4 4 B2 1.00 100 100
MiEAE = 1.00 80 80
EEED T EE m? 1.00 60 60
ST R m?3 0.04| 1250 50
BLSE = 1.00 20 20
ﬁﬁux:[ét m? 1.00 230 230
Bt m? 0.28 35 10
T m? 0.28 30 8
SETH(ZUERER) B2 1.00 11 11
2700 7T
TRaME TYPE-C (2 37)
e . IIRIEH  AFEN %R?Efmtmﬁi’ﬂi(ﬂsE"‘E) (& =15cm/TH=5cm) %ﬁl 1.00m2
THRIER 2 B | w2 | BE | @88 e
REEABFRERR T R(EWHE) (B&E=15cm/TH=5cm) m? 1.00] 2960 2960
MEAE B2 1.00 80 80
MEE BT EE m? 1.00 60 60
KT R m?> 0.04| 1250 50
EZR '%E: = 1.00 20 20
F i m? 1.00 230 230
%Elﬂ(ztﬂﬁﬁﬁaﬁ) = 1.00 10 10
3410 7T
TRREH TYPE-D €30
e . TiRIEH  AFEN %ﬁﬁE%mc&éi*&(ﬂﬁE’“E)( £8R=25cm/TH=6cm) Eﬁz 1.00m2
THRIER B 2= BB = 5T
RN AR REERR TR (EWHE) (BE=25cm/TH=6cm) m? 1.00{ 2960 2960
MiEAE = 1.00 80 80
EEED T EE m? 1.00 60 60
ST R m?3 0.04| 1250 50
BLSE = 1.00 20 20
ﬁuﬂé m? 1.00 230 230
SETH(ZUERER) = 1.00 10 10
3410 7T
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3100



